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1. (I) How many significant figures do each of the following
numbers have: (a) 214,5(b) 81.60,1(c) 7.03,3(d) 0.03,1
(e) 0.0086, (f ) 3236,%and (g) 870074

2. (I) Write the following numbers in powers of 10 notation:
(a) 1.156, (b) 21.8, (c) 0.0068, (d) 328.65, (e) 0.219, and (f) 444.

3. (I) Write out the following numbers in full with the
correct number of zeros: (a) 8.69 X 10% (b) 9.1 X 10°,
(c) 8.8 X 1071, (d) 4.76 X 10%, and (e) 3.62 X 107>.

@) 4M56 v @ .69-40' = §6300
21. %8 —s 2.13-4{ 9.4 40> = 910
0.006% — 6.3 {0 2.907= 0.3
12865 — 3.2%5 4" U6A0% = 436
0.219 — 249 {s" 3.62-15° = 0.0000%2

Yyy — 44y (o°

z z 1
7. (IT) Add (92 X 10°s) + (8.3 x 10%s) + (0 008 X 10°s).
8. (II) Multiply 3. 079 X 10°m by 0068 X 107! m, takmg into
account 81gn1f1cant figures.

Z
J200 § 2000,
$000 g 0O o QO
/{'0 0 2 & o
l( i
@ 3039 A -+ 0.063:-10" = 2.093%2
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Units for Three S| Base Quantities

Quantity Unit Name Unit Symbol

Length meter m
Time second S
Mass kilogram kg
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Prefixes for S| Units

Factor Prefix® Symbol Factor Prefix® Symbol
10% yotta- Y 10! deci- d
10% zetta- Z 102 centi- c L~
10% exa- E 10-3 milli- mzs—
10" peta- P 10-¢ micro- w
1012 tera- T 10~° nano- ns~
10° giga- G~ 10~12 pico- p
106 mega- MY 1075 femto- f
103 kilo- k& 1018 atto- a
102 hecto- h 107* zepto- z
10! deka- da 107 yocto- y
'{ kﬁ = /{ /Cllo loyte, = '{03 bv‘tﬂ
WL /’/‘8 = 1 wero 31‘0&% = 40_3
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